DO NOW

What are the roots?
S6 luchions

How do you find them on a graph?
X-intercepts

8.4 Solving Quadratic Equations From A Graph

Roots - avre x-values +Hhat make y=0
% X-intercepts

We can solve a quadratic equation by:

l.?emr'xﬁng Fhe equation replo&iwg O withy.

2. Gr&pl’\ the Parabolm

3. Tdently Hhe x"mjrcrcemts.
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3 _ Examples: Tell what type of root(s) the graphed functwn has.
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5. What is the largest root of: X 4+6x—7=0
(DO NOT actually draw the graph.)
N =% +bx~T7

%] ook at the tuble
y:o -~ Siues Ythe voots

’Roo‘{"s: X=! and. x:—7

6. How many x-intercepts does the graph of this function have?

X=1

y= —x'—x—=5

Nno real roots

Solve the quadratic equations by graphing. Identify the roots.
Identify what type of roots the function has.
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HOMEWORK
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